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Pegel Heimborn
Ereignis57,HQ 9
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Niederschlag [mm/Tag]

N-Summe: 54,09
Scheitelabfluss: 113,0

mm

m3/s

Q Ereignisbeginn: 9,65 m3/s
Ereignisdauer: 100 std.
Abflussbeiwert: 66 %
N-Dauer: 2 Tage
max. N-intensitat: 54,09 mm/Tg
Vorfeuchte: sehr hoch
Wetterlage: 1

Niederschlagsverteilung
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unker 55,00
g5,0 - 56,0
o6,0-57,0
&7,0-538,0
55,0 - 59,0
29,0 - 60,0
60,0 -61,0
61,0-62,0
62,0 - 63,0
63,0 - 64,0
64,0 - 65,0
65,0 - 66,0
66,0 - 67,0
67,0 - 63,0
65,0 - 69,0
69,0 - 70,0
70,0-71,0
71,0-72,0
72,0-73,0
73,0-74,0
(ber 74,00
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